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Jl 12,607
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Al 5,934,139
=X 5,301,316 5,477,942 A176,626
= 584,620
Jl 12,607
= 29,200
Al 4,674,889
S0 =25l 1,430,712 1,319,135 11,577
101 21AH| 201,912 197,135 4,777
04 JIZtN2Z2XNSE+ 201,912 197,135 4,777
O=z=H=g & =] =Y 148,745
ollZs 80,3203 x0H 151 109,155
s e 80,3202+ »34 24,518
oxdIFrd 120,4802 <0~ 12& 13,012
oZtAHI(M= &) 1,000
o) MZ22 Xt LISHI(QAAE X)), etAst S) 1,000
O=3=5N =3t8a 2 22y
80,3203 x4 158 50,763
O=32t=M =283 2 = dFY
85,8503 «7 H*43] 2,404
201 et 3| 1,027,000 930,000 97,000
01 AtR2te|Hl 27,000 30,000 23,000
O=3=H 2Z (MA=E, ZHIYR S) 27,000
03 A= &I 1,000,000 900,000 100,000
o4t M2HE0| =2H=H = 1,000,000
202 04l 800 1,000 A200
01 =LHAHI 800 1,000 A200
O=3=H 2L (EtAIZ HiXIoY S) 800
206 M=l 75,000 45,000 30,000
01 M=4l 75,000 45,000 30,000
O=3=H ME(HAE a2, I S) 25,000
O=3d2 Mz (a5H, 22l U S) 50,000
301 EtE NS 36,000 36,000
11 dAMEEIXIZE S 36,000 36,000
O=32t=N A SAHA S| 36,000
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308 XXM SOIH 60,000 60,000
18 SIS0t 4 A AS A 60,000 60,000
O=3=H 2=z 60,000
401 AlZHIZ S 0HbI 30,000 50,000 /20,000
04 SAL2HEAIZH] 30,000 50,000 /20,000
O=3=H g X2 A & Ex(25=
82 94XEE) 30,000
slsdH SE4Y 249 X/ (ZH) 36,400 39,000 A2,600
= 9,100
Al 27,300
101 @124H| 12,400 12,308 2
= 3,100
Al 9,300
M IIRINZENSES 12,400 12,308 2
O=Egzdda 29 A2¥(18) 12,400
= 3,100
Al 9,300
201 fet=3| 5,000 7,692 N2,692
= 1,250
Al 3,750
01 At22t2lH] 3,000 3,000 0
Os2ddd 2d( HoISX2 S) 3,000
= 750
Al 2,250
2 s5=34l 2,000 4,692 N2,692
O ANEEHl =Al2el 2,000
= 500
Al 1,500
202 04| 1,000 1,000 0
= 250
Al 750
01 =LHO LI 1,000 1,000 0
OEZHIA2E =U0iH| 1,000
= 250
Al 750
206 M=l 10,000 10,000 0
= 2,500
Al 7,500
01 M=4l 10,000 10,000 0
OzlgdsM2Ac|d 2 M= 10,000
= 2,500
Al 7,500
207 ARl 8,000 8,000 0




M =28
B =0)|z 93 U ol
e sYIIsEAXd (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,000
Al 6,000
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OEZHEA Al & 424 I F 8,000
= 2,000
Al 6,000
AgA AT 2E 697,274 719,267 A21,993
101 21A4H| 325,694 309,607 16,087
04 JIZtN2 2N S 2 325,694 309,607 16,087
OdteA, LXZEE 2& FY 67,470
olZs 80,3202 x5 *141 96,626
s 80,3202 x5 »27 10,844
OtFIAIE & THHI2E 2IfY 111,485
olles 80,3202 x4 H*250 80,320
=R 80,3203 x4 x52 16,707
omgIfrg 120,480 x4 *30 14,458
O3AIE & T2 Y (S+8) 33,563
odles 96,7203 * 1 *250& 24,180
= 96,720 x1H»52& 5,030
omgIfE 145,080 » 12 *30 4,353
O=2tx8= & A2 55,743
olle= 80,3203 x2&H 250 40,160
= 80,3202 x2& »52& 8,354
oFE=ZRY 120,480 x2& »30! 7,229
OLXIHHHEE M= AR
85,850 x5 +33] 1,288
OBUNEZH ELLA ESHE 22
80,3202 x5 » 15 6,024
Ozlegtd RE0Id= Higa 28 2R 50, 121
olZs 80,3202 x2H 249 40,000
s 80,3203 x2& *632 10,121
201 Ler=23| 52,080 55,160 23,080
01 At2teltl 10,080 11,160 1,080
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M=, g=0tA3, otNeg 5) 1,800
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Ozlgtdsdae|d HIlS XMelHl(Alad
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XS SBUMES KUY 2H(ZSE &
~ S) 1,000
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M4, BHERIZE S 58) 2,500
AXNE=S I ZH N2 12,607 0 12,607
Jl 12,607
206 M=l 12,607 0 12,607
Jl 12,607
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OSUHEM OlEH ELZA 12,607
) 12,607
ls2SMg A 202,710 203,430 AT20
201 Ler23| 1,800 2,000 A200
01 At2teltl 1,800 2,000 A200
OJl=2SAe & SollSdM 82 S
(B2 8=, U 8) 1,800
202 04| 28,560 27,730 830
01 2K 28,560 27,730 830
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140,000 x17E 128 28,560
203 HR=H] 1,000 1,000
03 A=A R =AH] 1,000 1,000
OJI=E281 A=A 1,000,000& 1,000
301 EtE N = 170,000 170,000 0
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01 ML ESFSHI 1,350 2,700 1,350
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oPC 7 1,120,000 1CH 1,120
02 LIE 230,000 «1CH 230
FUINESEH2Y 30,715 68,801 /38,086
101 @124H| 6.815 6,652 163
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402 BIZtAH=01 A 14,000 14,000
01 QI X2 AL E A (KHHITHE) 14,000 14,000
OMNEFLIINESE &g AlE 14,000
CAE 2l X3 1,800 7,000 25,200
206 M=l 1,800 2,000 A200
01 MZH| 1,800 2,000 A200
Oals2e| 24 28 MR(ME 3= ) 1,800
SAsEIIE R 67,120 85,726 18,606
101 21AH| 24,820 24,226 5%4
04 JIZtN2Z2 XS 2+ 24,820 24,226 5%4
OZAsg JeEsT2d 28ExX
Iy 6,185
olZs 80,3202 1 »652 5,221
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s 80,320 x2& » 162 2,571
201 er23 | 19,000 21,000 22,000
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OZAN=sg JIERa 2208 29 (Mg,
S HE 8) 250,000% 402 10,000
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Al 60,000
301 2eEN= 120,000 150,000 /30,000
= 60,000
Al 60,000
14 IIEt2 83 120,000 150,000 30,000
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Lo E) 120,000
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Al 60,000
GoliE A A X2 591,500 695,000 103,500
201 et 3| 5,000 5,000 0
01 At22t2l] 5,000 5,000 0
O MM wetd K= 5,000
301 LEIE NS 586,500 690,000 A103,500
14 IIEt2 8= 586,500 690,000 /103,500
OS2 2 AtA 2l Al 586,500
sHSEHE dte =29 NE 18,000 18,000 0
= 5,400
Al 12,600
101 212A4H| 14,000 14,112 A112
= 4,200
Al 9,800
04 JIZtN2Z2 XS E+ 14,000 14,112 A112
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= 4,200
Al 9,800
201 er23| 3,500 2,388 1,112
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Al 2,450
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= 1,050
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202 04| 500 500 0
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01 =LHOHI 500 500 0
Oddlis deta 28 =L 500
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sHEgolE 22 =29 N 5,400 5,400 0
= 1,620
Al 3,780
201 er23| 4,100 4,100 0
= 1,230
Al 2,870
01 AtR2te|HI 4,100 4,100 0
Ogdis &Ml 2= & 289 22l 4,100
= 1,230
Al 2,870
301 LELEN S 1,300 1,300 0
= 390
Al 910
14 IIEt2 83 1,300 1,300 0
sSHE H4EHL 28 g Bds 1,300
= 390
Al 910
== Al 2435t 38,200 43,650 A5,450
201 fer=3| 7,200 8,000 A800
01 AtR2t2|H] 7,200 8,000 A800
O=3=2M 1s 2 HAE 2F (B, 52
0 3) 7,200
202 04l 1,500 1,500
04 =NI2t01H] 1,500 1,500
O=3t=M 2432 s HHS2A
1,500,000& 1 1,500
206 MH=H| 12,000 13,000 21,000
01 M=4l 12,000 13,000 21,000
O=st=M =78 5,000
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11 dALEEIXIZE S 10,000 11,400 21,400
O==M UK(AME SHAR /TS S) 10,000
CAsY JleE XE 57,600 57,600 0
= 19,200
Al 38,400
307 @120l & 57,600 57,600 0
== 19,200
Al 38,400
02 LB HANHEE 57,600 57,600 0
OA2E X& 96,000,000 *60% 57,600
< 19,200
Al 38,400
A0ESY HAEHE Nsd 29 29,857 29,677 180
101 @124H| 24,257 23,677 580
MU IIRINZZENSES 24,257 23,677 580
OANIE=Y HAEHE Wsd 28 2R
o 24,257
e 80,3002 %124 %2502 20,080
oReERLrE 80,3203 18 x52& 4,177
201 er23 | 2,000 2,000
2 35234l 2,000 2,000
OLDIE=Y HIAEHE USE 238 RF
]l 500,000 22 1,000
OANESY HAEHE WSHE ALEES
500,000 22 1,000
206 M=l 3,600 4,000 A400
01 MHZH| 3,600 4,000 2400
OADIESY HAEHE Wsd 248 M=
(B2, 4E, Fuy2, so 3,600
IIEELEY PEE BE X 9,000 17,137 £8,137
= 4,500
Al 4,500
201 er=23y| 2,000 1,000 1,000
= 1,000
Al 1,000
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01 At2t2ltl 1,000 0 1,000
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= 500
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02 S3=gHl 1,000 1,000 0
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207 ARl 7,000 6,137 863
= 3,500
Al 3,500
03 A& 32t 7,000 6,137 863
O=2a248d 828 AY & 424
I e 7,000
= 3,500
Al 3,500
=t2el HolE HZ2YHHES 94,000 141,000 A47,000
= 47,000
Al 47,000
101 e124d| 49,000 70,000 A21,000
= 24,500
Al 24,500
M ORIMZZ2NSE S 49,000 70,000 A21,000
O=ot&e] dalls ZLM 28 A=Y
24,000, 000& »2H 48,000
= 24,000
Al 24,000
Oottt|(d= &) 1,000
= 500
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201 er23 | 36,000 60,600 A24,600
= 18,000
Al 18,000
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Al 7,200
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Al 8,760
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01 =2LHO4 ] 1,000 1,000 0
O=0t2el dollE LM =& KA 1,000
= 500
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206 =8l 8,000 9,400 21,400
= 4,000
Al 4,000
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(M=, staty REIIE 5) 8,000
= 4,000
Al 4,000
SEXNZI|BIE S (MEALR) 20,000 420,000 400,000
& 10,000
Al 10,000
405 KHHESH| 20,000 420,000 400,000
& 10,000
Al 10,000
01 AL =ZFSHI 20,000 420,000 400,000
NETHEN AlE SHZIHS JH|I P2 (D]
S) 20,000
T 10,000
Al 10,000
SH2 NHEAA 23 110,921 128,119 A17,198
101 214 d| 50,121 24,619 25,502
M IIRINZ2EXSEs 50,121 24,619 25,502
Os42 SESHA 29 oY )23
80,320 2% 249! 40,000
O=sdtE HEEAN 29 2RY f27
=g 80,3203 x2H +63! 10, 121
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Al 300
201 et 3| 33,000 0 33,000
= 13,200
Al 19,800
01 AlR22IH| 16,000 0 16,000
OYs2ae 2XTZ LT
1,000,000 <201 +5& 10,000
= 4,000
Al 6,000
OerdEE e S NAL 2HI(E28YI,
HOI2™eldl) 6,000
= 2,400
Al 3,600
2 S5=2g4l 17,000 0 17,000
OSFHI(IHI]) & &23l 17,000
= 6,800
Al 10,200
202 04t 1,000 0 1,000
= 400
Al 600
01 2L A 1,000 0 1,000
Og=sFe= ol el && XNE EH0bI 1,000
= 400
Al 600
sSENCIIBESE (HZ) 330,000 0 330,000
= 165,000
Al 165,000
401 Al HIZ 2018 330,000 0 330,000
= 165,000
Al 165,000
01 AlZH| 330,000 0 330,000
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Al 165,000
SIS 2,098,300 2,834,920 AT736,620
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Al 1,259,250
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301 LEtEXZ 42,000 6,000 36,000
14 J|EI2 A= 42,000 6,000 36,000
Ol E3HIW AMEE 29 I 24t
1,200,000 x50 & 6,000
ONEE &2 MAMCX X4 ~iI2A=2
2,000 %180 *100ha 36,000
402 SIZHXHE01 M 348,500 920,920 N572,420
01 CIZFIE AL E R (KHMITHS) 348,500 920,920 NB72,420
OMAHHIEZ B AATHEE XI&
40,000, 000& *5H 2= *x50% 100,000
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Al 35,000
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Al 33,750
02 QI TH2AILEE (01X THE) 54,000 120,000 266,000
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